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4*) There is 120 miles between Manchester and Billingham.

Scotch corner is % of the distance from Billingham.

Billingham 120miles

Manchester

a)How many miles is it from Billingham to Scotch
corner?

b) Miss Bartram and Mrs Taylor are going on a road
trip. They start Billingham and go to Manchester.
However on the way home Miss B drops Mrs T off at
scotch corner and Miss B goes back to Billingham
alone.

a) How many miles did Miss B travel.

3*.James kite got caught on a church
steeple, What size ladder will he need?

30m b) How many miles did Mrs T Travel



